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B.EJB.Tech. DEGREE EXAMINATION, NOVEMBER/DECEMBER 2009.

Annual Pattern — First Year
Mechanical Engineering

HSIX 01 — TECHNICAL ENGLISH

Engg,, Textile Tech. (Fashion Tech))
(Regulation 200¢)

Answer ALL questions.

PART A — (10 x 2.= 20 marks)
Mateh the words in column A with their meanings in column B
A B

(@ _extraction| () | severe

) _cramped | (i) | resulting in death

(©)hazard__| i) | confined within narrow limits
@ fatal ) | aking out T
) [ danger
Make nouns adding suitable sulixes o the given words
@ convey
@ erode

©  manage
(@ permeable.
Fill in the blanks with suitable forms of the words below.

[ Nom ‘Adjective | Person concerned

[Arodsert | o] Eavommerndlir

[ contractor.

investigative

ornithology |

(Comsmon to all branches of B.E./B.Tech. excopt Mechatronics Engs., Metallurgical

Maximum : 100 marks

@xy =2
@x%=2)
®x% =2
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Usualy each library have a number of book on a particular subject and so it
becomes neccossary to destinguish them in some way.

Make compound nouns from the following (x5 =2
E.g. source of power — power source

(@) clectricity which comes from the mains

®) o unit in which arithmetic s performed

©  alanguage understood by machine

(@ power derived from wind

Use the following words as noun and verb in sentences of your own to shoy.
different meanings, i =2)

Project ~ Noun —The projoct was completed last month,
Verb — We can project the pieture on a screen.
(@ Subject
@) Object
Define TWO of the following terms @x1=2)
E.g. Laboratory -- A laboratory is a room which is used for experimenting,
(@ caleulator
@) air conditioner
©  fyover

Change the following into numerical expressions (4x

E.g. along pipe of three feet — a three-foot long pipe.
(@) an estimate of 7000 crores

®  aclass of 84 students

(©  a train with 14 conches.

(@ a festival lasting five days,

Fillin the blanks with a suitable prefix to get the word that matches the given
meaning @xth

Eg. Super conductivity the property of haying zero electrical rosistance
@ —

2er0 :loss than zero,
®» — tension : abnormally high blood pressure.
© violet : having a wavelength beyond the violet end of the

spoctrum,

@ -

+ (sound waves) just below the level of audibility.
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Fill in the blanks with suitable prepositions

‘Tho horror () —————— the Jallianwalla Bagh massacre (b) —
1919 put Indiane firmly () the path of confrontation
(@) —————— the imperial power.

PART B — (5 x 1

0 marks)

Read the following passage carefully and answer the questions given at the
endofit (1x16=16)
For the last quarter of a century, we have been engaged in an enterpriss
unparalled in human history — the provision of basic needs to one-sixth of
‘mankind within the span of one or two gencrations. When we launched on that
effort our carly planners had moro than the usual gaps to fill. There were ot
enough data and no helpful books. No guidance could be sought from the
experience of other countries whose conditions ~ political, economie, social and
technological ~ were altogether different. Planning in the sense we were
innovating had never been used in the context of a mixed economy. But we
could not wait. The need to improve the conditions of our peoplo was prossing,
Planning and action, improvement of data leading to better planning and
better action, all this was a continuous and overlapping process. Our
industrialization tended to follow the paths which the more advanced countrias
had traversed earlier. Recently, we have encountered a bewildering collection
of problems, some due to our shortcomings but many inherent in the process
and in existing attitudes, There s a growing fecling that we should re-order
our priorities and move away from the single-dimensional model which has
‘viewed growth from certain limited angles, which seems to have given a highor
place to things rather than to persons and which has increased our wants
rather than our enjoyment. We should have a more comprehensive approach to
life, centered on man not as statistics but s an individual with many sides to
bis personality. The solution to these problems cannot be isolated as
phenomena of marginal importanco but must be an integral part of the
unfolding of the very procoss of development,

The extreme forms in which questions of population or environmental pollution
are posed obscure the total view of political, economic, and social situations,

India is one of the few countries which have an officially sponsared program of
family planning and this is making some progress. We belicve that planned
families will make for a healthier and more conscious population. But we also
know that no program of population control can be effective without education
and without a visiblo rise in the standard of living. Our own programs have
succeeded in the urban or semi-urban areas. To the very poor, every child is an
earner and a helper. We are experimenting with now approaches and the
family planning program is being combined with those of maternity and child
welfare, nutrition and development in general,
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®

Choose the correct answer (x1=¢
@ Whatis the main theme of the passage?
() environmental problem
(@ population problem
®  unequal dovelopment of countries.
(@) planned development of Tndia
(i) Why could not India get guidance from other countrios?
(1) They were well developed
(@) They wore not adequately developed
(3 They had different situations
(4 They had similar conditions.
(i) Why are poor people poor in family planning?
1) They consider every child a bread winner
() They do not like children
(8 They love children more than rich people do
(@) They do not have enough knowledge.
() Which of the following is not mentioned in the passage?
@ Asians
(@ Americans
(®  Latin Americans
@ Africans.
Mention whether the following statements are True or False : (6 1= )

@ Tndia has attempted to flfill the basic needs of  large number of
people in a short time.

@) India has adopted the right approach to national dovelopment right
from the beginning.

(i) Doveloped countries do not waste their resorirces and so they
develop faster than other countries
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(i) High standards are not yet common in all parts of India.

) Population growth leads to more environmental problems.

(i) Family Planning s successful in some parts of the country.

Ghoose the appropriate definition for the given words or phrases as they
aro used in the text

@) traversed

@) developed
@ crossid
@ faced
@ continued,
i) angles
(1) Bshing rods
@ iron rods
@ support structuree
() points of view.
i) unfolding
M) clearing
@ covering
@ opening
@ closing,

() depletion

)

filling up.

@ omptying out slowly
@ using up fast
@ chutting up.

) inhabitant
@ hesitant
@ resistant
@ colonizer
@ citizen.

() obseure
(1) present clearly
@) record correctly
(3 prosent confusedly
@ show correetly.

©x1=6)
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Write a letter of job application for the post of Technical Officer Lo the
General  Manager of BSNL, Chennai Circle, Anma Salai,
Chennai - 600 002. Give a separate résumé along with your letter,

(ax

16)
or

Write a letter of accepting an invitation to be the Chief Guest of a
Technical Seminar organized by an engineering college. Enclose your
résumé along with the letter of acceptance so that the organizers could
use it to intraduce you at the function. (1x16=16)

Write a letter to the editor of a newspaper about the problem of frequent
strikes by auto, taxi, lorry and bus owners, Also suggest suitable
solutions in your letter to prevent such strikes in future, (1 16 = 16)

or

Write a letter to the editor of a newspaper about the need for professional
ethics in colleges and universities to produce ethically conscious
graduates o that financial scams in big companies can be prevented,
Also suggest appropriate methods o proteet the employees and investors
of such companies. (1x16=16)

Write a brief report on a fire accident in a petrol bunk in your town, Give
your recommendations to prevent such accidents in future, (1 16 = 16)

or

Write a sct of eight recommendations for maintaining a newly built
house in good condition for many years (1x16=16)

Given below are two sets of jumbled sentences. Rearrange ONE of them into
coherent paragzaph a6

@

@) Magnets were believed to cure rheumatism, cramp or gout,
(@) Tt cannot be seen, heard, smelled or tasted or felt indirectly.

(Gil) It attracta nails, screws, paper clips, and other things made of iron
or steel without actually fouching them.

(i¥) A magnet s a piece of metal which has unique properties.
() Today they are used to find directions anywhers, anytime.

() Magnetism is the power that enables magnets to pull other objects.
(vid) Tt does not have any weight too.

(vis) Tt can pull or hold pieces of iron towards itself.

or
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@) Whether kine
destroye.

¢ or potential, energy cannot be created nor

@) Water in a resorvoir s potential energy.
) There are two kinds of energy.

(1) The former s seen in action

) Energy is the ability to do work.

(v0) The latter is not soen because it is simply stored up,

(vif) It can only be converted from one form to another for various
purposes.

(vii) Water coming down from a waterfall is kinetic energy.
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